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1.

a) —8a —48; b) —3uv + 18z; ¢) 2m’n + 3m™n® + 4m’n; d) 25a%bc — 9ab’c + 24abc? — Sabc;
e) —4.,5r's* + 1,2r%" — 3,9r's"; f) —2a - 14; g) =15a + 5a* — 5a% h) 18mn + 14m*n — 16mn?; i)
U=3v+4uv—>5;j)4r°—6r' + 508 = 1° + 0.1r; k) 4z + 52 — 1,52 + 10z* — 2,575
2
1) W x*y? — Iw.n X*y* + LAxy* + 13xy° + W Xy m) m’n — 4.2m’n* + 2,8mn’ — 10,5mn:
n) —10u* — 40uv + 5v — 2.5v> m+ 2u — 0,1

mvlﬂxlmwhvva+HANﬂovmovoB+§w&Acm+mclwA:ﬂovwnvlua+pm.“
f) 2a* -1 Amﬂov“mvw:lmﬁstulwAEﬂov“wv|x+vnbmx|A<+mlwxv\Qﬂoqv\ﬂov

a) Wx%?ﬂo,xﬂo,v\ﬂovngllwl?@ﬂo,wﬂoumﬂovMSmle_NNN+EN|NAN#9

d) ~4m’ + 6m - 2 + 2m™ (m # 0); e) W + W —4,5s — 35 + 1,5s* (s #0);

f) ~6u™ + 12 — 9u + 3u? (u # 0)
a) =88uv + 35uv; b) x> + 8x — 7; ¢) =37* + 25z — 27; d) —2xy -17yz;
e)—a'—4a’ —4a; f) -7v* + 77v - 21; g) —6k' + 10K’ — 4k* + 8k; h) 10m° — 15m” + 20m? — 50m;

1) 222+z-4

m:NS<|A“8LE<\_IM:+:Mﬁblwx“+wx+_

)T +1°—1;b) =8 + 25— 25 + L;€) W+H,mmlwmg d) -1 +2m-2m? + m’;

e) m@+m&+m§u+m”qlmuvu+cm®wbulmﬁ+m“ g) 7x’ + 7x% h) —a + 3;
5xmlmx+mv\|u\mbmlcwwva<lww_vmw5v:+p

Rozklad mnohoélenti

2.

a) 6u. (u—5+ 15u%); b) 25v2. (2v> - 3v + Dio)x.(3x -5 +x-1);

d) (-2r) . 2r' = 52 + 3r - 10); €) 3y 2y —4x + 1); ) 5wy . (Buvixly’ + 20Ky — 7v9)
Az.(v-1);b)6.(u+4v):c)2s. (s =2); d) 9m (9m — 1): e) 3z%a%* . (5z + 4a);

£) 2uv? . (8u - 9v); g) 2u'vs . (13v — 15); h) 7ab . (1 + 3a%b — 4ab® — 2ab)
a)(u+3).(4+v);b) (4x+35).(7t-3);¢) (n+2p) . (1 -1 d) (t-1). (@ +s);

e) (r—s).(3m—4n). (3m + 4n); f) X-y+2).2v-3);9)(1-a). (4 + b);
h)ym+n-3).z-7);i)(a-b+c). 3+ a—b)

a)(c=1).(c+1).(a-b)(a+b);b) (n-6p) . (n*+2p); c) (1 -22). (5z-2). (52 +2);
d) (3a—2b) . (ab — 2a%h?)

AE=1).0=s).(1+s);b)(v+ D.v=D.(v+1;0)s+1)-1);

d) 2m + 3n) . (2n - 3n)

) (E-2).C+2):H(1-d).Q1 +dY; 2) (15r° = 13s%) . (151 + 13s%);

h) (W —x%) . (W + x%); 1) W= 1) . @+ 1)) Qv-x3) . Q2v+x): k) -7 . (v +2%;

D) (125" - t*) . (1257 + t); n) V=V)(V+v);0(1-w9).(1+ w9, p) (- 11). 2+ 11);

1) (Tu—6t) . (Tu +6t); s) (1= 9) . (n* + 9)
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10.

11.

12.

13.

14.

15.

16.

Vi

18.

19.

)y . (6y—1) (6y + 1); (mn—8) . (mn+8);z.(9z—1) 9z + 1); uv*. (1 =3v). (1 +3v)
wv vmw+ 3).(s=3);(x+5).(z-3).(z+3); (6ab—T7a’b) . (5b —2a); (0,4u—1) . (3v + 2u);
c)4s.(Br+s);2m. (5 +3m); 2Gu’ +3u+2);2. (V*+5v-2)

a) (1-22)% b) Ba—-b)% ©) (m + 505 d) 2v—w); €) (51 + 355 ) ~(u + V) g) (2x = 3y);
h) ~(xy +x2)% ) (u— 1% j) Bs —4p); K) (c + 55 1) (a— 4y

2 2 2
1 1 . 3 2 ) —10m 1 :
NV lM.qu y s Uv MN+% QOVAOuM HOHV¢QV m 3

e) (u + 4v)%; ) (0,1a + 0,3b)*

2 1 2
m m N LA B 5
a)-1.(u+v);b)— > + = ; ¢) | Sa lqm& ; d) —(0,3r — 0,4s)
H H . 2 2 .
d) (2a-38) . (2a+8); ¢) 5 +0,1 ). 5 -0,1 J;e)(mn-1)(m’n+ 1);
1 4 1.l
f) %qu Sl at+ 3 b

a)(r+1—-8)@+1+s);b)(t=5-2u).(t—5+2u);c)(c+10d - 10) (c + 10d + 10)

d) m|W|H . m1W+ﬁ ;e)@-8).afb.(b+6);g) c.(c—-16);h)u. (u-22)
aA)(v—t).2v+3t;b)(x—y+2z).(a+b-c)c)(c+d).(x-y);d)(d-3).(r-5s);
) (x+y). m=-5;HB-w).v-1;82p+0.(a-bsh)Bv-7).(z+ )

i) (4-u).(1-2v);j) m+n). (6k—-9)

a)(3z—1).m+n+p;b)u-3).x-5y+1);c)(x*+y).4-v-2);d) (a-1).(@x-5s);
e)m-n).3-5s);H)(4-a).(z+1);2) c-3).(t-2s);h)(z-1).(z+1).2v-9);
i) (2m—5n). ([ +3s);j) ®-8).(a+19)
+u).(t+1);b)(p-1).(n=1);c)@+1).(c-13);d) 3-n).(m-1);
MwMwl%.Mmolwvuwuﬁwm+w\v.ﬁxlCwmv?+mnv.ANNulCMEAwlvaalsva:l:vaiC
a)a.(6-a).(6+a);b)2.(2b+3c)(2b—-3c);c) 3. (m*-2). (m*+2);
d)5.B3+n)(B-n);e)(@s—3r).@s+3r); Ht. (10+t). (10 —t3); i
guv.(@-v).@W+v);h)7uz.(1-2).(1 +2z);i) 7d’%e . (2e - 3d*) . (2e + 3d*)
a)(3x+y-2z).3x+y+2z);b) (5r's —2r +s) . (5% + 2r — s);
c) (4xy —3x +y) . (4xy + 3x — y); d) (6a’b — 2a + b) . (6a’b + 2a — b);
e)(p+29q-7pq) . (p+29+7pq);: ) Cm+n-1). 2Cm+n+71);
g)(@a-3b-5c).(a+3b+5c);h) Sx-y+2z).Ox+y—-z);
i) 2xy —x+7y) . 2xy + x -7)
a)—2.(2a-4b).(2a+4b);b) 8u.(u-2v);c) Bm—2r). (n—p);d) 3. (z+ 3)%
e)Bv-1).C3v-12.9H)1-2).(1-2).(1-2)
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